EECS 481 Winter 2004 Homework 2

Assigned: Tuesday February 3rd
Due: In hardcopy in class by 1:45pm,  Thursday, 17FE04

(late assignments will not be accepted)

Homework is on two pages.  Questions should be answered in paragraph form.  If you find yourself writing more than 5-7 sentences for any one problem you are probably going into too much detail.

Requirements

1. Consider a small business which provides office supplies to local businesses.  Suppose that they contract your software firm to develop an application to track their inventory and distribution.  What are three possible functional requirements?  What are three possible nonfunctional requirements?

2. "The application must perform faster than any competing application at the time of release."  What are three major problems with this 'requirement'?
Design

3. Why is it advantageous to produce a conceptual design before producing a technical design?

4. What is the difference between coupling and cohesion?

5. How does considering coupling and cohesion during the design phase affect the maintenance phase?
Maintenance

6. What type of system {S, P, E} would you classify Project 1 as?  Why?

7. What are two major problems we encounter in maintaining software?

8. What does the Belady-Lehman equation suggest about the amount of effort necessary to maintain a complex software artifact?

General

9. Which of the major phases in the Waterfall model is typically the most costly?  Why?

10. How do mistakes made in the requirements phase propagate through the entire software lifecycle?

11. How do mistakes made in the design phase propagate through the entire software lifecycle?

Testing

12.  Each line contains a proposition and two states S1 and S2.  Evaluate the proposition in both states.
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13.  Write truth tables to show the values of the following propositions in all states:

· (b = (b ( c)

· (b ( c) ( (b ( c) ( (c ( b)

14.  Translate the following sentences into propositional form:

· None of the following are true:  x < y, y < z and v = w

· The following are not all true at the same time:  x < y, y < z, and v = w

